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81. The Partition of Bengal made by

Lotd Curzon in 1905 [asted until

faj the First World War when
Indian troops were needed by
the British and the partition
was ended

fb) King George V abrogated
Curzon’s Act at the Royal
Durbar in Delhi in 1911

fo} Candhiji launched his Civil
Disabedience Movement

fd} the Pariition of india in 1947
when East Bengal became East
Paldstan

B2. The 1929 Session of Indian Mational

Congress is of gignificance in the
history of the Freedom Movement
because the

fa} attainment of Self-Government
was declared as the objective of
the Congress

{b} attainment of Poorna Swarag
was adopted as the goal of the
Congress

fe} Non-Cooperation  Movement
was launched

{d} decision to participate in the
Round Table Conference in
London was taken

B-FVE-N-IVUA/5BA

B3. With reference to the famous
Sattriva dance, consider the
following statements :

I. Satiriva iz a combination of
music, dance and drama.

2. It i3 a centuries-old living
tradition of Vaishnavites of
Aszam,

3. [t is based on classical Ragas
amd Talas of devotional songs
composed by Tulsidas, Kabir
and Mirabai.

Which of the statements given
above isfare correct?

fa} 1 enly

B 1 and 2 only

e/ 2 and 3 only

fgl 1,2 and 3

84, Chaitra 1 of the national calendar
based on the Saka Era corresponds
to which one of the following dates
of the Gregorian calendar in a
normal year of 365 days?

() 22Znd March {or 21st March)
{B)  15th May jor 16th May)
fc} 3lst March {or 30th March)

{d) 21st April far 20th Apeil)

of infomation. This is not an official one. This might be useful
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85. With
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reference to the Indian history

of art and culture, consider the
fellowing pairs -

Famous work of Sire
sculpture
1. A grand image . Ajanta
of Buddha's

Mahapatinireana
with numeraus

celestial

rmusicians

above and the
sorrowful figures of
his followers below

. A huge image of ¢ Mount Abu
Varaha Avatar (boar
incarnatlon) of
Vishnu, as he
reacues Goddess
Earth from the deep
and chaotic waters,

sculpted

on rock

. “Arjuna’s Penance”/ © Mamallapuram
“Descent of Ganga®

soulpted

ofi the

surface of huge

boulders

Which of the pairs given above
isfare correctly matched?

fa
(&)
(e}
fdif

1 and 2 only
3 only

1 and 3 only
I, 2 and 3

86. The Ghadr (Ghadar) was a

fa)

{Bj
fel

fa]

revolutionary  association of
Indians with headguarters at
San Francisco

nationalist organization operat-
ing from Singapore

militant  organization  with
headguarters at Berlin
communist  movement  for
India's freedom with head-
quarters at Tashkent

B-FVS-N-TVUA/S84

a of in

fomation. This is not an official one. This might be useful for

87

. With reference to India's culture and
tradition, what is ‘Kalaripayattu™

fal It is an ancient Bhakti culi
of Shaivism still prevalent in
some parts of South India

B Tt is an ancient style bronze
and brasswork still found in
southern part of Coromandel
area

fo} It iz am ancient form of
dance-drama and a living
tradition in the northern part .
of Malabar

fd} Ttis an ancient martial art and
a living tradition in some parts
of South India

. Consider the following pairs :
1. Garba ¢ Gujarat
2. Mohiniattam ¢ Odisha
3. Yakshagana ¢ Karnataka

Which of the pairs given above
izfare correctly matched?

faj 1 omly

bi 2 and 3 only

feb 1 and 3 only

fd 1,2 and 3
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i
§9. With reference to Buddhist history, 21. A community of people called
tradicion and culture in  [odia, Manganiyars is well-known for their

consider the following pairs @ (@) martial arts in  North-East

Famous shrine Location India :
1. Taho monastery : Spiti valley b} lmnzsmm tradition in North-Weat

and temple complex
fc}  classical vocal music in South

2. Lhotsava Lhakheng : Zanskar Valley India

temple, Nako {d] pietra dura tradition in Central
3. Alchi temple . Ladakh India

complex

92. What was/were the objectfobjects
of Queen Victoria’s Preclamation
(18587
l. To disclaim any ntention to

annex Indian States

fal 1 only 2. To place the Indian administra-

tion under the British Crown

i) 2 and:3:only 3. To regulate East India

Company's trade with India

Which of the pairs given above
is/are correctly matched?

fei 1 and 3 only
Select the correct answer using the

fd} 1,2 and 3 code given below.
fal 1 and 2 only

90. Consider the following statements : bl 2 only
1. ‘Bijak’ is a composition of the fc) 1 and 3 only

teachings of Saint Dadu Dayal.
2. The Philosophy of Pushti

{4 1,2 end 3

Marg was propounded by 93. Ibadat Khana at Fatehpur Stk was
Madhvacharya.
fa} the mosgue for the use of Royal
Which of the statements given Femnily
above isfare correct? ik} Akbars private prayer
chamber

fe} the hall in which Akbar held

3ol discussions with scholars of
B 2 only various religions
{d} the room in which the nobles
fe} Both 1 and 2 belonging to different religions
pgathered to dizcuss religious
{dl Neither 1 nor 2 affairs
B-FVS-N-IVLUASS8A 40
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94. In the context of food and nutritional Select the correct answet using the
security of India, enhaneing the code givern below.
'Seed Replacement Rates' of various
crops helps in achieving the food

production targets of the future. fa} 1 only
But what is/are the constraint/
constraints in  its  wider/greater B 2 only

implementation?
1. There is no National Seeds

Policy in place. fel Both 1 and 2
2. There is no participation of
private sector seed companies fd} Meither 1 nor 2

in the supply of guality seeds ;
of wegetables and planting
materials  of  horticultural

CTOpS. 96. Consider the following statements !
3. There is a demand-supply gap
regarding quality seeds in case 1. fAnimal Welfare Board of
of low value and high wolume Incia is established under the
Crops. Environment (Protection) Act,
1986,

Select the correct angwer using the
code given below, 2. Mational Tiger Conservation
Authority iz a statutory body,
fa) 1 and 2
! 3. National Ganga River Basin
B 3 only Authority is chared by the
{c) 2and3 , Prime Minister.

(d} MNone
Which of the statements given

. above isfare correct?
95. With reference to ‘Eco-Sensitive /

Zones', which of the following
statements is/are correct?

1. Eco-Sensitive Zones are the
1 onl .
areas that are declared under fa} "
the Wildlife [Protection) Act,
1972, fb) 2 and 3 only
2. The purpose of the declaration
of Eco-Sensitive Zones is tw fod 2 only

prohibit afl kinds of human
activities in those zones except

agriculture, fdt 1,2 and 3
B-FWS-N-TVUA/58A 42
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97. Consider the following pairs :

Vitamin Deficiency disease
1. Vitamin C Scurvy
2. Vitamin D Rickets
3. Vitamin E Night blindness

Which of the pairs given above
isfare correctly matched?

fa) 1 and 2 only

fb) 3 only

fc} 1,2 and 3

{d} Mone

98. There iz some concern regarding

the nanoparticles of some chemical
elements that are used by the
industry in the manufacture of
various products. Why?

1. They ecan accumulate in the
environment, and contaminate
water and soil,

They can enter the food chains,

3. They can trigger the production
of free radicals,

Select the correct answer using the
code given below.
fa) 1 and 2 only

B 3 only
fo 1 and 3 only

fdf 1,2 and 3

E-FVS-N-IVUA/S8A

of infomation.

This

is not an official one. This might

9%, Which of the following organizations

brings out the publication known
as World Economic Outlook™

fa) The International Monetary
Fund
b The United Mations

Development Programme
fe] The Waorld Economic Foram

{d] The Waorld Bank

100, With reference to Unton DBudget,

which of the
eoversd
Expenditure?

following  isfare
under Naon-Plan

1. Defence expenditure
2. Interest payments
3. Salaries and pensions

4, Bubsidies

Select the correct answer using the

code given below.

fal 1 only

{B) 2 and 3 only

fel 1,2,3 and 4

fd] None

(W
i
=
m
1]
=4
F
=t
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are the significances of a | fc)

The survival of the wetland

practical approach to sugarcane
production known as “Susteinable
Bugarcane Initiative'

1. Seed cost is very low in this
compared to the conventional
method of cultivation,

2. Drip irrigation can be practiced

very cffectively in this.

3, There is no application of
chemical finorganic  fertilizers
at all in this.

4., The scope for intercropping
iz more in this compared to
the conventional method of
cultivation.

Select the correct answer using the
code miven below.

have occurred, are occurring
or are likely to occur in the
wetland as a result of human

interference
(B) The country in -which the
wetland 15 located  should

enact & law to prohibit any
human activity within fve
kilometres from the edge of the
wetland

B-FV&-N-TVUAfSBA

This

is nmot an official

depends  on  the cultural
practices and traditions of
certain communities living in
its vicinity and therefore the
cultural  diversity  therein
should not be destroyed

I:!,F It 15 given the status of World
Heritage Site’

3. Which one of the following pairs

of islands is separated from each
other by the Ten Degree Channel™?

fo) Andaman and Nicobar
b} Micobar and Sumatra
fej  Maldives and Lakshadweep

{d} Sumatra and Java

faj 1 and 3 oniy
4. Consider the followl irs :
{5} 1,2 and 4 only R e e R
FProgramme, Froject Ministry
fef 2,3 and 4 only
1. Drought-Frone Ministry of
fd 1,2, 3 and 4 Area Programme Agriculture
2. Desert Development - Ministry of
2. If a wetland of international Programme Environment
importance is brought under the and Forests
Montreux Record', what does It . .
imply? 3. HNational Watershed Ministry
Development Project of Rural
fa} Changes in ecological character for Rainfed Arcas Development

Which of the above pairs isfare
correctly matched?

fal 1 and 2 only

(b 3 only

fef 1,2 and 3

f{d] MNone

one .
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5. With reference to Bombay Natural
History Society [BNHS), consider
the following statements :

1. Tt iz an autotivmous organiza-
tion under the Ministry of
Environment and Ferests.

2, It strives to conzerve nature
through action-bazed research,
education and public
AWATETEss,

3. It organizes and conducts
nature trails and camps for the
general public.

Which of the statements given
above i8fare correct?

fa} 1 and 3 only

b} 2 only
{ef 2 and 3 only
@) 1, 2 and 3

6. With reference to ‘Global Environ-
ment  Facility’, which of the
following statements is/are correct?

fa) 1t EErVES as financial
mechanism  for 'Convention
on Biological Diversity’ and
United MNations Framework
Convention on Climate
Change’

B It undertakes scientific
research  on  environmental
issues at global level

fel It is an agency under QECD
te facilitate the transfer of
techonology and funds to
underdeveloped countries with
specific aim to protect their
environment

fd} Both fa} and b

B=-FVE-N-IVUA/58A

T. With reference to technologies for
solar power production, consider
the following statements :

1.

‘Photovoltaics” is a technology
that generates electricity by
direct conversion of light into
electrcity, while ‘Solar Thermal®
% a technology that utilizes
the Sun's rays to generate heat
which is further wused in
electricity generation process.

Fhotovoltaics generates
Allernating Current [AC), while
Selar Thermal generates Direct
Current (D)

India has manufacturing base
for Solar Thermal technology,
but not for Photovoltaics.

Which of the statements given
above is/are correct?

faf 1 only
{2 and 3 only

fg)

1,2 and 3

{d} None

8. Consider the following languages :

1.
2
3

Cujarati
Kannada

Telugu

Which of the above has/have been
declared as ‘Classical Language/
Languages’ by the Government?

fa) 1 and 2 only
B 3 only

fel 2 and 3 only
fd) 1,2 and 3

of infomation. This is not an official

one. This might be useful
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B-FVE-N-TVUA/SBA

roviding piece of infomation. This is not an official one. This might be useful for
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9. Consider the following pairs :

1. Dampa Tiger Mizoram
Reaerve

2. Gumti Wildlife Sikkim
Sanctuary

3. Baramati Peak Nagaland

Which of the above pairs isfare
correctly matched?

fa) 1 only
fbj 2 and 3 only
fe 1 and 3 only

fdj 1,2 and 3

10. With reference to a conservation
organization called “Wetlands Inter-
national’, which of the following
statements isfare correct?

1. It is an intergovernmental
organization formed by the
countries which are signatories
to Ramsar Convention.

2. It works at the feld [evel
to develop and mobilize
knowledge, and wuse the
practical experience to
advocate for better policies.

Select the corr .ot answer using the
code given below,

faj 1 only

fb) 2 only

fej Both 1 and 2

fd} WNeither 1 nor 2

B-FVS-N-IVUAJSEBA &

roviding piece of infomation. This

is nmot an official

11. With reference to a grouping of
countries  known az BRICS,
consider the following statements :

1. The First Summit of BRICS was
held in Rio de Janeiro in 2000,

2. Bouth Africa was the last to
join the BRICS grouping.

Which of the statermnents given
above is/are correct?

fal 1 only
fB} 2 only
f¢) Both 1 and 2

{d} Neither 1 nor 2

12. Consider the following diseases :

1. Diphtheria
2. Chickenpox
3. Smallpox
Which of the above dizeases

has/have been eradicated in India?

faj 1 and 2 only
B} 3 only
fef 1,2 and 3

{d} Mone

one. This might be useful
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rowviding piece of infomation. This is not an official one.

This might be useful for y
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13. Which of the following phencmena

might have influsnced the evelution
of organisms?

1. Continental drift
2. Glacial cycles

Select the correct answer using the
code piven below,

fal 1 only

fb) 2 only

fc/ Both 1 and 2
fd) Neither 1 nor 2

14. Other than poaching, what are the

possible reasons for the decline
in the population of Ganges River
Dolphins?

1. Construction of dams and
barrages on rivers

2. Inerease in the population of

crocodiles in rivers

3, Getting trapped in fishing nets

accidentally

4. Use of synthetic fertilizers and
other agricultural chemicals
in erop-fields in the vicinity of
rivers

Select the correct answer using the
code given below.

fa) 1 and 2 cnly
fb) 2 and 3 only
fei 1,3 and 4 only

fdl 1,2, 3 and 4

B-FV3-N-IVUAS58A

of infomation.

This

18. The Radcliffe Commiltee was

appointed to

faj solve the problem of minorities
in India

B give effect to the Independence
Bill

fe) delimit the boundaries
between [ndia and Pakistan

fd) enquire into the riots in East
Bengal

16. Brominated flame retardants  are

used in many household products
like mattresses and upholstesy
Why is there some concern about
their use?

1. They are highly resistant
to  depradation in the
environment.

2. They are able to accumulate in
humans and animals.

Select the correct answer using the
code given below.

fa) 1 only

fb) 2 only

{c) Both 1 and 2

id}  Neither 1 nor 2

is not an official one. This might be useful
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roviding piece of infomation. This is not an official one. This might be useful for y
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17. Consider the following :

1. Bals

2. Bears
3. Eodents

The phenomenon of hibernation
can be observed in which of the
above kinds of animals?

fa) 1 and 2 only

{&) 2 only

fc) 1,2 and 3

fd] Hibernation cannot be observed

in any of the above

18. Which one of the
the largest

Parliament®

following is
Committee o the

fa} The Committee on  Public
Accounts

{b} The Committee on Estimates

fc/ The Committee
Undertakings

on  Public

fdf The Committes on Petitions

B=FV3-N-IVUAfGBA

This

19. Which of the following adds/fadd
carbon dioxide to the carbon cycle
on the planet Earth?

1. Wolcanic action

2, Respiration

3. Photosynthesis

4. Decay of organic matter

Select the correct answer using the
code given below.

fa) 1 and 3 only
i 2 only
fej 1, 2 and 4 only

id 1,2, 3 and 4

20, f vou walk through countryside,
you are likely to see some hirds
stalking alongside the cattle to
geize the insects disturbed by
their movement through grasses.
Which of the following is/are such
bird f birds?

1. Painted Stork
2. Common Myna
3. Black-necked Crane

Select the correct answer using the
code given below,

fa) 1 and 2
fb] 2 only
jc) 2 and 3

{d} 3 only

is not an official one. This might be useful

for
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B-FV5-N-IVUASSBA 11 [P.T.On
rowviding piece of infomation. This is not an official one.

This might be useful for y
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21. In medicval India, the designations 24, Which of the Pllowing are some
‘MMahattara’ and  Pattakila’ were important pollutants released by
used for steel industry in India?
fa) military officers 1. Oxides of sulphur

; P ni
fb)  willage headmen Dadiche:3- o Filkyogen

2
3. Carbon monoxide
fe)  specialisis in Vedic rituals
4. Carbon dioxide
{d} chiefs of craft guilds
Select the correct answer using the

22. Lichens, which are capable of & PiEn Yclow.

initiating  ecological  succession
even on a bare rock, are actually

1, 3 and 4 onl
a symbiotic association of fal g

f) algae and bacteria i) 2 and 3 only

b} algae and fungl fe)l 1 and 4 only
fcl  bacteria and fungl fd) 1,2 3and 4

{d) fungi and mosses
26. Which of the following Kingdoms
were associated with the life of the

23. If you travel through the Himalayas, Buddha?
you are likely to see which of the i
following plants naturally growing 1.  Avant
there? 2. Gandhsra
Oak 3. HKosala
2. Bhedodendron 4 Magadha

3. Sandalwood

Select the correct answer using the
Select the correct answer using thi code given below,

code given below. g

fa) 1 and 2 only fo) 1,2 and 3
b} 3 only bl 2 and 4

fe) 1 and 3 only ) 3 and 4 only
fe) 1,2 and 3 i) 1,3 and 4

B-FVE=N=IVIA/SBA 12

roviding piece of infomation. This is not an official one. This might be useful for



' www.recruitment.guru

21, TEER 9w d wew s ‘wiEa’
wEare e fom e @ ar
jaj & sl
{b) T fEm
je) At seiwe & e
id) Taedt dft % mm

22, g, W w9 Aga o o wifEl
aEEA W I wem B, wree A
ek mpaliall et 37

fa) S s sy
{b) fare oih waw
fc) v sl waw
() FEE = =E

23. wft wm fiowew @ d o ow O, A
anyE) = Frafafies § @ B owEn)
ot el ) Wt w A I R
I werEa B

I |
2. gEw
3 =3

= fim m o= W v o= owd o
gfm)

fa) Fam 13w 2
o) %3

fof FAm 1 ok 3
fdf 1, 2 a

B-FV&-N-1VUAfS8A 13

24, Pofafi 7§ 993 3o eyl apvw

ia’ﬁmﬂmmmgﬁﬁmaﬁ
[

1. #es ¥ wivmE
2. AR AR
3. WAl Al
4, =T EEuiwTE

e ffn oo ® owEm wowd o
FFm

faj Wam 1, 3 a4
) w2 a3
e} Fw 1afma
fd) 1,2 334

25, Fefefes va 4 @ fem e g1 &

ot o i
b sEE
2. TrER
3.
4, W™

4 fim ™ oz oW W owowE T
i Eu]

ja) 1, 2373
(B} 234

fe) Em 334
fdl 1, 3aMa

[E.T.O.

roviding piece of infomation. This is not an official one. This might be useful for y
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26. Ewvery year, a monthlong ecologically
impertant campaign /festival is held
during which certain communities
tribes plant saplings of fruit-bearing
trees. Which of the following are
such communities/ tribes?

fa) Bhutia and Lepcha
B Gond and Kerku
fe] Trula and Toda

{d} Sahariya and Agariva

2T. The =zales tax you pay while
purchasing a toothpaste iz a

fa) tax imposed by the Central
Government

fb] tax imposed by the Central
Government but collected by
the State Government

fe tax imposed by the State
Government but collected by
the Central Government

(d} tax imposed and collected by
the State Government
28, What does venture capital mean?

{a} A shori-term capital provided
to industries

& A long-term  start-up capital
provided to new entreprensurs

fcj Funds provided to industries
at times of incurring losses

{d}] Funds provided for replacement
and renovation of industries

B=FV&-MN-IVUASS8A

29. The mainr objective of the 12th
Five-Year Plan is

fe) inclusive growth and poverty
reduction

fb) inclusive and  sustainable

growth

fe}  sustamable and inclusive
growth to reduce unemployment

{d} faster, sustainable and more
inclusive growth

30. With reference to Batance of
Payments, which of the following
constitutes/constitute the Current
Account?

1. Balance of trade

2. Foreign asscts

3. Balance of invisibles
4

Special Drawing Rights
Select the correct answer using the
code given below.
fa) 1 ocnly
fb) 2 and 3
fe/ 1 and 3
jd} 1,2 and 4
31, The terms ‘Marginal Standing
Facllity Rate’ and MNet Demand
and Time Liabilities’, sometimes

appearing in news, are used in
relation to

fiz} banking operations
fb) communication netwarking
fej military strategies

{d] supply and demand of agricul-
tural preducts

roviding piece of infomation. This is not an official one. This might be useful
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B-FVS-N-IVUA/S8A 15 [E.T.C.

roviding piece of infomation. This is not an official one. This might be useful for y
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32, What isfare the facility/facilities
the beneficiaries can get from the
services of Business Correspondent
[Bank Saathi] in branchless areas?
1. It enablez the beneficiaries
to draw their subsidies and
social security benefits in their
villages.

2. It enables the beneficiaries in
the rural areas to  make
deposits and withdrawals.

Select the correct answer using the
code given below.

fal 1 only

(b 2 only

{e} Both 1 and 2
fdi Meither 1 nor 2

33. In the context of Indian economy,
which of the following is/fare the

purposefpurposes of  ‘Statutory
Reserve Regquirements™™

1. To enable the Central Bank
to  control  the amount of
advances the banks can create

3., To make the people’s deposits
with banks safe and liguid

3, Te prevent the commercial
barnks from making excessive
prafits

4, To force the banks to have
sufficient vault cash te meet
their day-to-day requirements

Select the correct answer using the
code given below.

fa) 1 only

fb) 1 and 2 only
fe} 2 and 3 only
jd} 1,2, 3 and 4

B-FVE-N-IVUASS8A

This

34, Eecently, a series of uprisings of

people referred to as ‘Arab Spring’
originally started from

f) Egypt
b Lebanon
fe}  Syria

fd) Tunisia

35. Consider the following countries :

Denmark

Japan

Russian Federation
United Kingdom

United States of America

£ Rl Bl

Which of the above are the
members of the "Arctic Council’?
fa) 1,2 and 3

fbl 2, 3 and 4

fe 1,4 and 5

fd) 1, 3 and 5

36. Consider the following pairs :

Region aften Country
in news
. Chechnya Rusgsian
Federation
. Darfur : Bali
. Swat Valley - Irag

Which of the above pairs isfare
carrectly matched?

fa) 1 only

B} 2 and 3 only
fe 1 and 3 only
fdl 1, 2 and 3

is nmot an official one. This might be useful for
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of infomation. This
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37, With reference to Agni-IV Missile,

which of the following statements
iafare correct?

1. It iz a surface-to-surface missile,
2. Itis fuelled by liguid propellant
anly.

3. It can deliver one-tonne nuclear

warheads about 7500 km away.

Select the correct angwer using the
code given below,

fa) 1 only

fb) 2 and 3 anly
fe} 1 and 3 only
fd@) 1,2 and 3

reference  to  two  non-
conventional energy sources called
‘coalbed methane” and ‘shale gas’,
consider the following statements |
1. Coalbed methans is the pure
methane gas extracted from
cool seams, while shale gas is a
mixture of propane and butans
only that can be extracted
_ from fine-grained sedimentary
racks.
2. In India, sbundant coalbed
methane sources exiat, but so
far no shale gas sources hawe
beoen fourd.

Which of the statements given
above isfare correct?

{a) 1 omly

B 2 enly

fej Both 1 and 2
fd] HNeither 1 nor 2

B=FVS-H-TVLA/S8BA

1B

39, With

reference to ‘Changpa'
community of India, consider the
following statements :

1.  They live mainly in the State of
Uttarakhand.

2. They rear the Pashmina goats
that yield a fine wool,

3. They are kept in the category of

Scheduled Tribes. P

Which of the statements given
above isfare correct?

fa) 1 only
fh) 2 and 3 only
fe) 3 only

fd) 1,2 and 3

40. In India, cluster bean (Guar) is

traditionally used as a vegetable
or animal feed, but recently the
cultivation of this bas assumed
significance, Which one of the
following statements is correct in
this context?

fa) The il extracted from seeds is
used in the manufacture of
biodegradable plastics

b The gum made from its sesds
is used in the extraction of
shale gas

fci  The leai extract of thiz plant
has the properties of anti-
hizstamines

fd] It iz a source of high qualicy
biodiesel

roviding piece of infomation. This is not an official one. This might be useful
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b T A R R e e e
P # e B &

) T dh B ofE F omm 4
whiferfim v g @

) T T T & el WO

gy Ad 1A wm ¥
B-FVE-N-IVUA/SSBA 19 [P.T. O,
rowviding piece of infomation. This is not an official one.
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41. Which of the following have coral
reefs?

1.  Andaman and Micobar Islands
2.  Gulf of Kachchh

3. Gulf of Mannar

4. Sunderbans

Seieet the correct answer using the
code given below,

fal 1,2 and 3 only
{b} 2 and 4 only
fc) 1 and 3 only
fdi 1,2, 3 and 4
42. In India, the preblem of soil erosion

is aszgociated with which of the
following?

1.  Terrace cultivation
2. Deforestation
3. Tropical climate

Select the correct answer using the
code given below.
fu} 1 and 2 omby
(b} 2 only
fe) 1 and 3 only
(@ 1,2and 3
43, The seasonal reversal of winds is the
typical characteristic of
" fal Equatorial climate
fb) Mediterranean elimate
fe/ Monsoon climate
fdi Al of the above climates

B-FV5-N-IVLIA/58A

ca of infomation. This

is not an official

44, With reference to the cultural history
of India, the term ‘Panchayatan'
refers to

fe) an assembly of village clders
fb] a religious sect

fe] a style of temple construction
{d] an administrative functionary

45. Consider the following rivers : ~

1. Barak
2, Lohit
3. SBubansiri

Which of the above fows/low
through Arunachal Pradesh?

fa) 1 only
B} 2 and 3 only
fe] 1 and 3 only

; fel} 1,2 and 3
46. Consider the follewing pairs :
Wetlands Confluence of
rivers
. Harike Wetlands : Confluence of
Bras and
Satluj/ Sutlej
. Kepladeo Ghana : Confluence of
National Parle Banas and
Chambal
. Kolleru Lake ; Confluence of
Musi and
Krishna

Which of the above pairs is/are
correctly matched?

faf 1 only

B 2 and 3 only

e} 1 and 3 only

{d) 1,2 and 3

one .
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41, Frefeafm 4 & fed wee-fafed 27
1. s afn freeam duogg
2. T W EE
3. W

&

A Ry oo W owEm o= ol ww
i

fa) F==1, 283

b a2 s

o) w13

fd) 1,2, 3 a

42, YA # g A9 g frefaiee § 8
it /Tt werfeim 337
1. afew Wi
2, FHEE
3. IO A

44 fu ™ 9= W oM W oA I
T

ja) F=m 1 ¥R 2

b A 2

fo) WEE o1 o3

) 1,233

43, T W At seew R e
sifiream &7

(a) MatEE Sy
b} AT FeAr]
fo) R AT

{d} ITET B Ty

B-Fva-N-IVUASSBA 21

44, iR % uwighw dfem & owwd

‘e 9 FRE i R
j) W F T W
[T A

fe)  wf=T R

fd) T e

45, Freff i w fen it

1. =

2. i

3.

IEE | A P R wdm # R
=l &4

fa) FEW 1

b AW 2 3 3

A I

fd 1,203

45, faofiim 3 w fam ff

s et w v
1. i amfE - o= R

A T G
2. dEmA T - wEm R T
i FEE Eakau
3. #emda el
T W
Tofw oWl @ @ wR-Eyd w0 gt
B
fa) e 1
B wEw 2 el 3
jop W@ 1 sim 3
fd) 1,233
[P.T. 0.
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4T. Which one of the following pairs does 50. The most important strategy for
not form part of the six systems of the conservation of biodiversity
Indian Philosophy?® together with traditional human life

1% the establishment of
fa} Mimamsa and Vedanta

fa) biosphere reserves
B Nyava and Vaisheshiks

b botanical gardens
fe} Lokayata and Kapalika

e} mational parks
{d) Sankhya and Yoga

fd]  wildlife sanctuaries

48, Consider the following pairs :
51. Turkey is located between

Hills: Region
1. Cardamom Hills : Coromandel Fal T e e Se
Coast {b) Black Sea and Mediterranean
2. Kaimur Hills : Konkan Coast es
3. Mahadeo Hills  : Central India B WeaRenan
4, Mikir Hills ¢ North-East India

(e} Gulf of Agaba and Dead Sea

Which of the above pairs are

correctly matched? §2. What is the correct sequence of

occurrence of the following cities in

I{ql 1 and 2 South-East Asia as one proceeds
from aguth to north?

2 e 1. Banghkok

fe} 3 and 4 4 Hanai

fd] 2 and 4 3. Jakarta
4, Singapors

49, Which one of the fellowing Schedules
of the Constitution of India contains
provisions regarding anti-defection®

Select the correct answer using the
code given below.

fal Second Schedule jal 4-2-1-3

b Fifth Schedule bl 3-2-4-1

fef  Eighth Schedule fe] 3-4-1-2

fd) Tenth Schedule idj 4-3-2-1
B-FVS-N-IVLAfSBA 22
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47. Pl o6 § & sh-m W v 50. ¥9-RifFaw F Sw-vw AgE & T

wgzEi O et b7 dtesr & dem W fm owEd o
: Ty Bfafar § 8 fm o B e

o) = s i fo) e e ()

fei iR Ay wfe b) T

fd) wr=a fdm fo T TR

fd} T HETTTY
48, Pt oot o fyam it

aEIEEl e 51. = frik moy Rl 47

1. el it o ShmEe = fal T TR o9 R T
2 PRpoii . Few
T A i AR
3. TEmd weEml o mE wew o =
4. T uafl e fe) En o T e wr
g el & -2 v e 7 -t b
fa) 132 B2, 2o o 2R A TR i
fb) 2dma w o TR W owd fdem
#
fod 334 .
fdj 2 ¥4 2. TR
3. T
49, WA * B f At § 3 ew-0 4, fmm
s A - Bmas
s e M Ry T A
) )
fa) T fa) 4=2=1=3
i) it s ) 3-2-4-1
e} s s 6 3-4-1-2
folf AT A i 4-3-2-1
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53, The scientific wiew is that the 55, In the Constitution of India,
increase  in global emperature promotion of international peace
should not exceed 2°C above and security is included in the

pre-industrial level. If the global

ternperature increases beyond 3 °C

above the pre-industrial level, what

can be its possible impact fimpacts

on the world? (B} Directive Principles of State
) Palicy

{a) Preamble to the Constitution

1. Terrestrial biosphere tends
toward a net carbon source.

2, Widespread coral mortality wili
oeour,

3. All the global wetlands will
permanently dizappear,

fe) Fundamental Duties

{d} Ninth Schedule

4. Cultivation .nl' cereale """_m §6. What are the benefits of imple-
not be possible anywhere in menting the ‘Integrated Watershed
the world. Development Programme™?

Select the correct answer using the 1.  Prevention of soil ranofl
code given below.
2. Linking the country's perennial
rivers with seasonal rivers
@) 1 on : J
fa) ly 3. Rainwater harvesting and

b 1 and 2 only recharge of groundwater table

#

E 4. Regeneration of natural
fei 2, 3 and 4 only vegetation

fdl 1,2, 3 and 4
Select the correct answer wsing
the code given below.

54. The national motte of India,

‘Batyameva Jayate' inscribed below

the Emblem of Indla is taken from
o 1 and 2 only

fa) Katha Upanishad

i 2, 3 and 4 only
fb) Chandogya Upanizhad

fe] Aitareys Upanishad fef 1,3 and 4 only
{di Nundaka Upanishad fd] 1,2, 3 and 4
B-FVWE-N-[VUA[S8A 24

roviding piece of infomation. This is not an official one. This might be useful for
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53, dyiw gfm e B T fe R 55, VTR % TEvA § w=widE miE i g
- = 4 2°c @ sfis it wiafs w1 % 38w ¥
wg Tk ol R e -
W# 3oc ik a wg wm B, @ fimw

TEF BRI S R (@ ¥ b §
L ﬂﬁﬁ““m@q“*m“ P e
2, fige wara wedm afda @) G
3. vl yrmsin sy wmft e d
o 5 and)
o) el st &
4, e #t i fo @ sl o anm i
ELRil
ik TET W OEH I
Eﬁmﬁ“‘mﬁrﬂ b 56, 'whwm wwwen frem wEER #
il w0 & = wn §7
faj 41 1, g & g 9 A i
2. B ) mrgedt AR oS dwed
. 1. A # s
o} FEm 2, 354 3, =uf-wd drEm @ dw-TEE W
g
fdp 1,2, 3 %R 4 i : -
it B m o W owm woE T
B4, WAA % TEEER & A IR owmm R gf)
e e e w8 e
7
¥ fa) ¥ a2
fa) ¥ TR
- (b FEA 2, 334
(L] Fimy,
i R je} %A@ 1, 3 ¥4
fdj T Tl fej 1,2, 3 %04
B-FVS-N-IVUAS58A 25 [P T O.
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57. Which of the following are associated

with Planning’ in India?
1. The Finance Commission

2. The HNational Development
Couneil &

3. The Union Ministry of Rural
Development

4. The Union Ministry of Urban
Development

5. The Parliament

Select the correct answer using the
code glven below.

fa) 1,2 and 5 only
f) 1, 3 and 4 only
fcb 2 and 5 only

fd) 1,2, 3, %and 5

58. Which of the following isfare the

function/ functions of the Cabinet
Secretariat?

I.  Preparation of agenda for
Cabinet Meetings

2. Secrectarial assistance to
Cabinet Committees

3. Allocation of financial
resources to the Ministries

Select the correct answer using the
code given below,

fa) 1 only

fb) 2 and 3 enly

fei 1 and 2 only

fdi 1,2 and 3

B-FVE-N-IVUA/SBA

26

59, Consider the following statements :

A Constitutional Government is one
which

1. places effective restrictions
on  individual liberty in the
interest of State Authority

2. places effective restrictions on
the Authority of the State in
the interest of individual liberty

Which of the statements given
above iafare correct?

fa) 1 ocnly

bl 2 only

fc] Both 1 and 2
{dj Meither 1 nor 2

60. Which of the following are the

dizcretionary powers given to the
Governer of a State?

I. Berding a report to  the
President of India for imposing
the President’s rule

Appointing the Ministers

Reserving certain billa passed
by the State Legislature for
consideration of the President
of India

4. Making the rules to conduct
the business of the State
Jovernment

Select the correct answer using the
code given below.

fa) 1 and 2 only
fa) 1 and 3 only
fef 2, 3 and 4 only
fdl 1, 2, 3 and 4

roviding piece of infomation. This is not an official one. This might be useful
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st : farmmmEe
! =i, % meufd T
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i F FH HARE E
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&1. If the interest rate is decreased in an

ceonomy, it will

!'5:_1 decrease  the  consumption
expenditure in the economy

fb) increase the tax collection of
the Government

fo]  inerense the investmenlt
expenditure in the economy

{df increase the tetal savings in
the economy

62. Consider the following statements :

1. The President shall make rules
for the rmore convenient
transaction of the business of
the Government of India, and
for the allocation among
Ministers of the said business.

2, All executive actions of the
Government of India shall be
expresged to be taken in the
nams of the Prime Minister,

Which of the staternents given
above isjare carrect?
fal 1 only

B 2 only
fci Both 1 and 2

fc} MNeither 1 nor 2

63. Consider the following statements

regarding a No-Confidence Maotion
in India :

1. There

Mo-Confidence Motion
Constitution of India.

2. A Metion of Ne-Confidence can
be introduced in the Lok Sabha
anly.

is no mention of &
in the

B-FW5-N-IVUASS8A

of infomation.

This

28

is not an official

64, With reference fto

Which of the statements piven
above isfare correct?

fa) 1 only

- B 2 only

fe} Both 1 and 2
. fdj Meither 1 nor 2

Neem  tres,
consider the fellowing statements :

1. MNeem ol can be used as a
pesticide’ to  control  the
proliferation of some specics
of insects and mites,

2. Neem seeds are used in the
manufacture of biofuels and
hospital detergents.

3, MNeem oil has applications in
pharmaceutical industry.

Which of the statements given
above isfare cormect?

{al 1 and 2 anly

(B} 3 anly
fel 1 snd 3 only
fd] 1,2 and 3

65. Which one of the following is the

procesa involved in photosynthesis?

faj Potential encrgy is releazed to
form [ree energy

{b) Free encrgy is comverted into
potential energy and stored

e} Food is oxidized to releass

carbon dioxide and water

fd} Oxygen is taken, and csrbon
dioxide and water vapour are
given out

one .
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61, fordll Aefwran 8 af sE o oS 22
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66. In addition to fingerprint scanning,
which of the fellowing can be used
in the biometric identification of a

68, Which of the following pairs is/are
correctly matched?

person? Spacecraft Purpose
1. Cassini-H E iti
1. Iris scanning YEEna g;::‘:il::.:
2. Retinal scanning transmitting
: o data to the
3. Voice recognition Earth
Select the correct answer using the 2. Messenger i Mapping and

code given below,

fa} 1 only

{b) 2 and 3 only

3. Voyager 1 and 2

investigating
the Mercury

: Exploring the

outer solar
system

Select the correct answer using the

fe) 1 and 3 only code given below,

fd) 1,2 and 3 1 oy

fb 2 and 3 only

67. Which of the following statements

isfare correct regarding vegetative

propagation of plants? fel)

i, Vegetative propagation
produces clonal population.

fe) 1 and 3 only
1,2and 3

69. Consider the following pairs ;

3. Vegetative propagation helps Region Well-known for
in eliminating the virus, the production af

3. Vegetative propagation can be 1. Kinnaur Areca nut
practiced most of the year. i Mango

Select the correct answer using the 3. Coromandel Soya bean

code given below.
Which of the above pairs is/are
correctly matched?

faj 1 only
faj 1 and 2 only

fb) 2 and 3 only

f} 3 only
fe 1 and 3 only fe) 1,2 and 3
fd} 1,2 and 3 e} MNone

B=FV3=N=IVLIASfG8A 30
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70. Which of the following isfare the T3, Consider the following statements :
I | 3 homi
E:‘;Tp:‘fexamp v ol oheacal 1. Maize can be wused for the
Be production of starch.
1. Crystallization of sodium
chloride 2. il extracted from maize can

2. Melting of ice be a feedstock for biodiesel.

3. Souring of milk 3. Alcoholic  beverages can  be
produced by using maize,

Select the correct answer using the

code given below. Which of the statements given

above isfare correct?
fa} 1 and 2 only

(b} 3 only foj 1 ey
fcf 1,2 and 3
] None fb) 1 and 2 only

fe} 2 and 3 only
T1. The power of the Supreme Court of

India to decide disputes between fd} i, 2 and 3
the Centre and the States falls
under ita

T4. Among the following organisma,

fof advisery Jicadiction which one does not belong to the
{b) appellate jurisdiction cluss of other three?
fe)  original jurisdiction fa) Crab
(e writ jurisdiction
¥ (B} Mite
T2. Consider the following techmigques/ :
phenomena : ity Sourpion
1. Budding and grafting in fruit fd) Spider
plants "

2. Cytoplasmic male sterility

3 OVeris cluns 78. The power to increase the number
g of judges in the Supreme Court of

Which of the above isfare used to India is vested in ?

create (ransgenic rs
FANSEEME Crops {@) the President of India

1 onl
“ o fb)  the Parliament
B 2 and 3
& 1and3 fol  the Chiefl Justice of India
fd} None fd}  the Law Commission
B-FVS-N-IVUA/58A 32 7
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